3C2A

SCHOLAR TEAM AWARD NOMINATION

FORM T

Solano College		9/17/24	COLLEGE CHECK LIST
College		Date	Form 3 Highest 2 or 5 percent *
Bay Valley	_		Lowest 2 or 5 percent* Recommendation Letters (2)
Conference			Team Record Summary Form T, Sides 1 and 2
Baseball	2 7	3.34	* With transcripts Have you included all of the
Sport Men or Women	Total No. of Team Members	Cumulative GPA	above?

Below is Bylaw 7.4 providing the procedures and criteria for the nomination of candidates to the Scholar Team Award. It is important to follow each requirement specifically. Nominations shall be judged from the information submitted with this form:

7.4 SCHOLAR TEAM AWARD

7.4.1 SCHOLAR TEAM AWARD CRITERIA

- A. SCHOLARSHIP: 80 points maximum. To qualify, all team members listed on Form 3 who have completed and used a season of sport, must have excelled academically with a total team GPA of 3.0 on a 4.0 scale. To be eligible for the award, 80 percent of the team members on the final Form 3 must have completed 12 or more units (full-time student status) for the semester.
- B. ATHLETICS: 20 points maximum. The team shall have completed the season of sport and shall have demonstrated better than average accomplishments in intercollegiate athletic competition.
- C. RECOMMENDATION: The team shall have a strong written recommendation from its college personnel of choice.

7.4.2 SELECTION OF SCHOLAR TEAM AWARD NOMINEES PROCEDURES

- A. A FORM T, Scholar Team Award Nomination, shall be completed and certified by the college athletic administrator.
- B. Nominations shall meet the following time schedule:
 - 1. Nominations shall be submitted from the college to the conference commissioner by:
 - FALL SPORTS, INCLUDING BASKETBALL—the last Friday in March
 - SPRING SPORTS—October 1
 - 2. Conferences shall review nominations for accuracy and select one team per sport to be forwarded to the 3C2A Executive Director (awards@cccaasports.org) by:
 - FALL SPORTS, INCLUDING BASKETBALL—the second Friday in April
 - SPRING SPORTS —October 15
- C. Team and student-athlete grade point average (GPA) shall be totaled by using the results of all course work records transcripts for each athlete during the semester/quarter of that sport participation. No summer semester course records past the completion of the season of sport shall be used.
- D. The application shall include the units attempted, grade points, and cumulative GPA for *each* team member during that sport season. List all team members completing and using a season of sport participation as on FORM 3. List participants in descending GPA order.
 - 1. Verify that 80 percent of all athletes listed on the final Form 3 completed by semester in a full-time status (minimum of 12 units completed). The team GPA will be calculated by dividing the team total grade points by the team total units; i.e., ten (10) participants: 360 grade points, 120 units attempted = 3.0 TEAM GPA.
 - 2. On the final FORM 3, asterisk all students who have completed and used a season of sport. Only those students who finish the sport season shall qualify.
 - 3. Include transcripts of the two (2) students or 5 percent (whichever is greater) with the highest GPA and the two (2) students or 5 percent (whichever is greater) with the lowest GPA. Include all units attempted for each student as defined in this section.
 - 4. A summary of the team's athletic season record including, but not limited to, win/loss record, conference standing, or similar accomplishments
 - 5. At least two (2) letters of recommendation on behalf of the total team membership, which can come from college representatives or community agencies.
- E. Nominated teams shall include the following **minimum** numbers of participants as defined in section D.2 above. A team with fewer members shall not qualify.
- F. Scholar Team Award Minimum Number of Participants: Badminton 6; Baseball 16; Basketball M&W 10; Beach Volleyball 12; Cross Country M&W 6; Football 40; Golf M&W 6; Soccer M&W 12; Softball 12; Swim M&W 12; Tennis M&W 8; Track & Field M&W 12; Volleyball M&W 9; Water Polo M&W 12; Wrestling 10.
- G. The Awards Committee will choose a winner for each sport. Awards will be presented at the annual spring 3C2A Convention.
- H. Appropriate awards shall be presented to the college of a Scholar Team Award winner.

3C2A

SCHOLAR TEAM AWARD NOMINATION

List *all* team members completing and using a season of sport participation as noted on FORM 3. List participants in descending GPA order. Provide transcripts of the two students or 5 percent (whichever is greater) with the highest GPA and the two students or 5 percent (whichever is greater) with the lowest GPA. Include all units attempted for each student as defined in Bylaw 7.4.2.D. (See SIDE 1.)

Solano College					Bay Valley	•
College					Conference	
Baseball					▼ 27 3.34	
Sport	Men's	0 0	r Ow	omen's	Total # of Team Members Cumulative GPA	
Name	Grade Points	/ Unit	_	GPA	Name Grade / Units Points / Attempted = GP	Α
Sample	45	/ 15	-	3.0	kevin Parker 65 / 22 = 2.9) 5
Joseph Dain	64	/ 16	=	4.00	Joseph Guttmann 38 / 16 = 2.3	38
Dylan Newman	88	/ 22	=	4,00	Trevin Seifert 35 / 15 = 2.3	33
Dylan Trammell	56	/ 14	=	4.00	Richard Ryne 42 / 18 = 2.3	33
Cameron Taylor	66	/ 16.5	5 =	4.00	/ =	
Braden INdelicato	56	/ 14	=	4.00	Total 1547 / 462.t = 3.3	14
Mark Graham	67	/ 17	=	3.94	/ =	
Jake Rogers	56	/ 14	=	4.00	/ =	
Cooper Dwyer	73	/ 19	=	3.84	/ =	
Kai Kozumi	69	/ 18	=	3.83	/ =	
Devon Hancock	66	/ 18	=	3.67	/ =	
Charles Boyd	62	/ 17	=	3.65	/ =	
Tegan Wendt	55	/ 16	=	3.44	/ =	
Mateo Santos	59	/ 17	=	3.47	/ =	
Connor Ross	53	/ 15	=	3.53	/ =	
Rolando Ramos	66	/ 20	=	3.30	/ =	
Payton Harris	47	/ 14	=	3.36	/ =	
Kyle Lewis	49	/ 15.5	=	3.16	/ =	
Aaron Strong	48	/ 15	=	3.20	/ =	
Peyton Czekalewski	59	/ 20	=	2.95	/ =	
Gregory Ryan	50	/ 17	=	2.94	/ =	
Cash Mc Crory	61	/ 21	=	2.90	/ =	
Trevor Esperance	45	/ 16.5	=	2.73	/ =	
D'Angelo Ashley	54	/ 19	=	2.84	/ =	

I certify that the information submitted with this form is complete and accurate. Our college will provide transcripts for all students if requested.

Erik Visser	Athletics Director	
Person Completing Form (Type or Print)	Title	
	9 ncm	09/17

Signature

09/17/24 Date (mm/dd/yy)

(7/1/24)

Solano College Baseball 2024 Team Record Summary

The Solano College Baseball team finished the season with an impressive overall record of 26-15, securing a second place finish in the Bay Valley Conference (BVC) with a strong 16-5 conference record, a .762 winning percentage. The Falcons earned a CCCAA Playoff bid, demonstrating their competitiveness throughout the season.

Key Stats:

- Overall Record: 26-15 (.634)

- Conference Record: 16-5 (.762)

- Home Record: 14-6

- Away Record: 12-9

- Total Runs: 345

- Team Batting Average: .296

- On-Base Percentage: .398

- Slugging Percentage: .423

- Home Runs: 18

The team showed balanced performance both at home and away, with a high-scoring offense averaging 8.4 runs per game and solid overall play throughout the season.

September 16, 2024

To CCCAA Awards Committee,

I am writing to highly recommend the Solano College Baseball Team for the CCCAA Scholar Team Award Nomination. This group of student-athletes has not only demonstrated outstanding athletic abilities but has also upheld academic excellence throughout their 2024 season.

The team finished the season with an overall record of 26-15, securing second place in the Bay Valley Conference with a 16-5 conference record and a .762 winning percentage. Their hard work and commitment earned them a CCCAA Playoff bid, showcasing their competitive spirit and determination to succeed.

In addition to their athletic achievements, the Baseball Team has consistently excelled academically, with a remarkable cumulative team GPA of 3.34, including five individual players achieving a perfect 4.00 GPA. This dedication to both academics and athletics speaks volumes about their character, discipline, and focus.

Solano College is incredibly proud of this team for the way they represent the College. Their success, both in the classroom and on the field, is a testament to their hard work, resilience, and commitment to the values of our institution.

I wholeheartedly recommend the Solano College Baseball Team for the CCCAA Scholar Team Award.

Sincerely,

Erik Visser

Athletics Director

Solano Community College

September 18, 2024,

To Whom It May Concern:

I am please to recommend the Solano Community College Baseball Team for the CCCAA Scholar Team Award. The college was very fortunate to have this group of hard-working athletes demonstrate their skill both in academics as well as on the field.

While achieving a CCCAA spot in the playoffs, the team put in some amazing statistics. The baseball falcons achieved a winning season with 26 wins and just 15 losses. In conference play they earned second place in the Bay Valley Conference with a record of 16-5. In that season they were able to earn a winning percentage of .762.

What pleased me most was their academic performance where the team earned a cumulative GPA of 3.34. This demonstrates the extra work the team has put in toward their academics. As their counselor, I was more than glad in finding out this information. I had met many for their ed plans and it did seem like a very motivated group.

We are all very proud of this team and believe that they deserve the honor of the CCCAA Scholar Award.

Sincerely,

Nicholas Cittadino Academic Counselor

Form 3 Team Eligibility

Student-Athlete Roster/Season of Competition Report

Bay Valley Baseball

Conference Sport

Solano College

✓Male Female

Gender

2023-2024 Academic Year

This form is to be sent to your conference commissioner twice: 1) Prior to the first contest; 2) Within 10 working days at the conclusion of the sport season. Institution

		(1)	(1) Prior to 1st contest	ntest				(2) Season of competition used?	n of used?		(9)
Name	Student ID	HS Last Attended	HS Graduation Date	Date of Enrollment at 1st College	Last Collegiate Institution, if applicable (excluding the present)	Previous Seasons of Competition Used	Of-State HS	Yes		Injury/Illne ss Waiver	Dropped Sport
Ashley, DeAngelo D.	(106944695)	Vallejo High	06/2023	08/2023		0		<			
Boyd, Charles L.	(106953570)	Cherokee Trail High	05/2023	08/2023		0	<	_			
Czekalewski, Peyton A.	106944468	Vintage High	06/2023	08/2023		0					
Dain, Joseph J.	(106954004)	Spanish Springs High	06/2023	08/2023		0	<	•			
Dalton-Recht, Jasper L.	106953826	El Cerrito Highschool	06/2020	08/2020	College of the Canyons	>				<	1
Dwyer, Cooper D.	(106948891)	Dixon High	06/2023	08/2023		0					
Graham, Mark A.	106935972	Will C Wood	06/2022	01/2022							
Guttmann, Joseph	(106939720)	St. Patrick / St. Vincent High School	05/2022	08/2022							
Hancock, Devon D.	(106938659)	Will C Wood	06/2023	08/2023		0					
Harris, Payton M.	(106954176)	Miramonte High School	06/2022	08/2022	College of Marin						
Indelicato, Braden E.	(106952995)	River Valley High School	06/2021	08/2021	Diablo Valley College	,					
Koizumi, Kai T.	(106945470)	Will C Wood	06/2023	08/2023		0					
L'Esperance, Trevor A.	106957800	Justin Siena High	06/2023	08/2023	Santa Barbara City College	0					
Lewis, Kyle A.	(106956717)	St Anthony High	06/2022	08/2022	Hawaii	0					
McCrory, Cash	106943743	Davis Senior High School	06/2021	08/2021	Sacramento City College			<			

Wendt, Tegan M. (10	Trammell, Dylan H. (10	Taylor, Cameron M. (10	Strong, Aaron T. 106	Seifert, Trevin E. 106	Santos, Mateo T. (10	Ryan, Gregory R. 106	Ross, Connor W. (10	Rogers, Jake (10	Richard, Ryne (10	Reguera, Jacob T. (10	Ramos, Rolando J. (10	Parker, Kevin J. (10)	Newman, Dylan J. 1069	Meadows, Miles (10)	Name	
(106946748)	(106936635)	(106957110)	106905390	106939872	(106608373)	106940632	(106941381)	(106953006)	(106952393)	(106944417)	(106953324)	(106947988)	106954778	(106943983)	Student ID	
American Canyon High	Benicia High School	Napa High	Rodriguez High	Vacaville High	Jesse Bethel High School	Will C Wood	Napa High School	Salesian College Preparatory	Armijo High School	Armijo High School	Pioneer High	Berkeley High	Napa High School	Angelo Rodriquez High School	HS Last Attended	(1)
06/2023	06/2022	06/2023	06/2023	06/2022	06/2021	07/2021	06/2022	06/2022	06/2019	06/2022	06/2023	06/2022	06/2022	06/2022	HS Graduation Date	(1) Prior to 1st contest
08/2023	08/2022	08/2023	06/2023	08/2022	08/2021	08/2022	08/2022	08/2022	06/2019	08/2022	08/2023	08/2022	08/2021	08/2022	Date of Enrollment at 1st College	ontest
		Butte Community College	Napa Valley College		Napa Valley College			Diablo Valley College	Diablo Valley College	Butte College		University of Hawaii	Napa Valley College		Last Collegiate Institution, if applicable (excluding the present)	
0	_	0	0	0					0			,	د ا		Previous Seasons of Competition Used	
															Of-State HS	
-		•												. <	Yes	(2) Season of competition used?
															No	n used?
										<					er in	(2)
														7 7	Dropped Sport	(2)

(1) We certify that all are eligible for participation.

(2) We certify season of participation status.

(2) Web Signed By College Administrator \sqrt{crif}^{iQA} 5/22/2024 1:32:14 PM College Official/Signature

Generated On 9/17/2024 3:57:16 PM

Student AcademicTranscript

This is not an official transcript. Courses which are in progress may also be included on this transcript.

Information for Joseph J. Dain Courses in Progress Institution Credit Transcript Totals

Transcript Data STUDENT INFORMATION

Joseph J. Dain

Curriculum Information

Current Program

Program:

Kinesiology (AA-T)

This is NOT an Official Transcript

INSTITUTION CREDIT -Top-

Term: Fall 2023

Academic Good Standing **Academic Standing:**

Dean's Honors Additional Standing: Quality R Credit Grade Subject Course Level Title **Points** Hours 3.000 12.00 Α Off-Season Baseball UG **ATHL** 015A 3.000 12.00 Intro/Publ Speaking UG 001 COMM 3.000 12.00 Introduction to Kinesiology 040A UG KINE 8.00 4.000 Elem Statistics UG 011 MATH

Term Totals (Undergraduate)

UG

	Attempt Hours	Earned Hours	 Quality Points	GPA	
Current Term: Cumulative:	13.000 13.000	 	 		3.38 3.38

Unofficial Transcript

001

PSYC

Term: Spring 2024

Academic Good Standing **Academic Standing:** President's Honors Additional Standing: Quality R Credit Grade **Subject Course Level Title** Hours **Points** 12.00 3.000 Α General Astronomy 010 UG **ASTR** 12.00 3,000 Α M Baseball (Spr) UG 015 ATHL 2.00 0.500 Α Pre-Season Inter Base UG 015B ATHL 6.00 1.500 Α In-Season Sport Cond 025 UG ATHL 16.00 4.000 Α College Composition UG 001 **ENGL** 4.00 1.000 Α Info Skills for College/Beyond UG LR 010 3.000 12.00 Introduction to Psychology

Term Totals (Undergraduate)

	Attempt Hours		Earned Hours	GPA Hours	Quality GPA Points	
e Toures	16.000	16,000	16.000	16.000	64.00	4.00
Current Term: Cumulative:	29.000	29.000	29.000	29.000	108.00	3.72

Unofficial Transcript

Term: Summer 2024

Acaden Subjec			Academic Good Standing I Title	Grade	Credit Hours	Quality R Points
	0065	UG	Intermediate Yoga	Α	1.000	4.00
KINE MUSC	006F 013	UG	Multicultural Music	А	3.000	12.00

Term Totals (Undergraduate)

	Attempt Hours	Passed Hours	Earned Hours		Quality GP/ Points	4
	4.000	4.000	4.000	4.000	16.00	4.00
Current Term:	33.000	33.000	33.000	33.000	124.00	3.76

Unofficial Transcript

TRANSCRIPT TOTALS (UNDERGRADUATE) -Top-

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA	
Total Institution:	33.000	33.000	33.000	33,000	124.00		3.76
Total Transfer:	0.000	0.000	0.000	0.000	0.00		0.00
Overall:	33.000	33.000	33.000	33.000	124.00		3.76

Unofficial Transcript

COURSES IN PROGRESS -Top-

Term: Fa	ill 2024			Credit Hours
Subjec	t Cours	e Leve	el Title	
-			Off-Season Baseball	3.000
ATHL	015A	UG		4.000
BIO	015	UG	Introduction to Biology	1.000
KINE	012B	UG	Weight Training - Intermediate	
			_	3.000
PLSC	001	UG	Int Amer/Govt & Pol	3.000
SPMD	054	UG	Care/Prev Athl Injuries	3.000

Unofficial Transcript

RELEASE: 8.7.1

3.80

57.00

Student AcademicTranscript

This is not an official transcript. Courses which are in progress may also be included on this transcript.

Information for Dylan J. Newman Transfer Credit Institution Credit Transcript Totals Courses in Progress

Transcript Data STUDENT INFORMATION

Name:

Dylan J. Newman

Curriculum Information

Current Program

Current Term:

Program:

Engineering (AS)

This is NOT an Official Transcript

TRANSFER CREDIT ACCEPTED BY INSTITUTION -Top-

15.000

15.000

15.000

15.000

202180: Nap	a Valley College							
Subject Cou	urse Tit	:le			Credit Hours	Quality F	Points	R
MATH 020	Ana	alyt Geo/Cal	lc I	С	5.000			10.00
		tempt P ours H				Quality Points	GPA	
Current Tern	n:	5.000	5.000	5.000	5.000	10.00		2,00
Unofficial 7	Transcript							
202210: Nap	a Valley College							
Subject Co	_	tle		Grade	Credit Hours	Quality I	Points	R
MATH 021	Ana	alyt Geo/Cal	lc II	С	5.000			10.00
		ttempt F		Earned Hours	GPA Hours	Quality Points	GPA	
Current Terr	n:	5.000	5.000	5.000	5.000	10.00		2.00
Unofficial 1	Franscript							
202280: Nap	a Valley College							
Subject Co	urse Tit	tle		Grade	Credit Hours	Quality	Points	R
CINA 000	T Tra	ansfer Cours	se .	Α	3.000			12.00
HIST 017	' His	st/U.S. to 18	377	В	3.000			9.00
KINE 000	Tra	nsfer Cours	se	Α	3.000			12.00
KINE 020	A Int	ro to Kinesi	ology	Α	3,000			12.00
SOC 000	Tra	ansfer Cours	se	Α	3,000			12.00
		ttempt l ours l	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA	

Unofficial Transcript

202310: Napa Valley College

Subjec	t Course	Title		Grade	Credit Hours	Quality F	Points	R
ANTH	002	Cultural Anth	nro	Α	3.000			12.00
KINE	000T	Transfer Cou	rse	Α	3.000			12.00
KINE	000T	Transfer Cou	rse	Α	3.000			12.00
PLSC	001	Int Amer/Go	vt & Pol	В	3.000			9.00
		Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA	
Current	Term:	12.000	12.000	12.000	12.000	45.00		3.75

Unofficial Transcript

202360: Napa Valley College

		5-							
Subject	Course	Title		Grade	Credit Hours	Quality P	oints	<u>R</u>	
GE	000T	Transfer Cou	rse	В	3,000			9.00	
KINE	000T	Transfer Cou	rse	Α	1.000			4.00	
		Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality (Points	GPA		
Current 7	Term:	4.000	4.000	4.000	4.000	13.00		3.25	

Unofficial Transcript

INSTITUTION CREDIT -Top-

Term: Fall 2023

Academic Standing: Academic Good Standing
Additional Standing: President's Honors

Subjec	t Cours	e Leve	el Title	Grade	Credit Hours	Quality R Points
ASTR	010	UG	General Astronomy	Α	3.000	12.00
ATHL	015A	UG	Off-Season Baseball	Α	3.000	12.00
HED	002	UG	Health Education	Α	3.000	12.00
HED	003	UG	Womens Health Issue	Α	3.000	12.00
HIST	037	UG	Women in Amer Hist	Α	3.000	12.00
KINE	012A	UG	Weight Training - Beginning	А	1.000	4.00

Term Totals (Undergraduate)

	Attempt Hours	Passed Hours		GPA Hours	Quality (Points	GPA	
Current Term:	16.000	16.000	16.000	16.000	64.00		4.00
Cumulative:	16.000	16.000	16.000	16.000	64.00		4.00

Unofficial Transcript

Term: Spring 2024

Academic Standing: Academic Good Standing
Additional Standing: President's Honors

Subjec	t Cours	e Leve	el Title	Grade	Credit Hours	Quality <u>R</u> Points
ANTH	001	UG	Biological Anthro	Α	3.000	12.00
ATHL	015	UG	M Baseball (Spr)	Α	3.000	12.00
ATHL	015B	UG	Pre-Season Inter Base	Α	0.500	2.00
ATHL	025	UG	In-Season Sport Cond	Α	1.500	6.00
COMM	001	UG	Intro/Publ Speaking	Α	3.000	12.00
DANC	004	UG	Dance Appreciation	Α	3.000	12.00
ENGL	001	UG	College Composition	Α	4.000	16.00
LR	010	UG	Info Skills for College/Beyond	Α	1.000	4.00

PSYC	001	UG	Introduction	to Psychology	/		Α	3.000	17	2.00
Term `	Totals (I	Jnderg	graduate)							
				Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA	
Curren	t Term:			22.000	22.000	22.000	22.000	88.00		4.00
Cumula	ative:			38.000	38.000	38.000	38.000	152,00		4.00
Unoff	icial Trai	nscript	:							

Term: Summer 2024

Academic Standing: Academic Good Standing

Subject Course Level Title Grade Credit Quality R Hours **Points ENGL** 002 Crit Thk/Writ Lit UG 4.000 16.00

Term Totals (Undergraduate)

Quality GPA Attempt Passed Earned GPA Hours Hours Hours Hours **Points Current Term:** 4,000 4.000 4.000 4.000 16,00 4.00 **Cumulative:** 42,000 42,000 42,000 42,000 168.00 4.00

Unofficial Transcript

TRANSCRIPT TOTALS (UNDERGRADUATE) -Top-

Attempt Passed Earned GPA Quality GPA Hours **Hours** Hours **Hours Points Total Institution:** 42.000 42.000 42.000 42.000 4.00 168.00 **Total Transfer:** 41.000 41.000 41.000 41.000 135.00 3.29 Overall: 83.000 83.000 83.000 83.000 303.00 3.65

Unofficial Transcript

COURSES IN PROGRESS -Top-

Term: Fall 2024

Subject Course Level Title

CHEM 001 UG Gen Chem I, Lec/Lab 5.000

Credit Hours

RELEASE: 8.7.1

Student AcademicTranscript

This is not an official transcript. Courses which are in progress may also be included on this transcript.

Information for Trevin E. Seifert
Institution Credit Transcript Totals Courses in Progress

Transcript Data

STUDENT INFORMATION

Name:

Trevin E. Seifert

Curriculum Information

Current Program

Program:

Fire Technology (AS)

This is NOT an Official Transcript

INSTITUTION CREDIT -Top-

Term: Fall 2022

Academic Standing: Academic Good Standing

Additional Standing: Dean's Honors

Subject	Course	Level	Title	Grade	Credit Hours	Quality Points	R
ATHL	015A	UG	Off-Season Baseball	Α	3.000	12.00	I
BIO	016	UG	Intro Human Biology	В	3.000	9.00	
ENGL	001	UG	College Composition	Α	4.000	16.00	
FIRE	050	UG	Fire Protect Organ	В	3.000	9.00	
FIRE	101	UG	FF Survival	В	3.000	9.00	
LR	010	UG	Info Skills for College/Beyond	В	1.000	3.00	

Term Totals (Undergraduate)

	Attempt Hours	Passed Hours		GPA Hours		GPA	
Current Term:	17.000	17,000	17,000	17.000	58.00		3.41
Cumulative:	17.000	17.000	17.000	17.000	58.00		3.41

Unofficial Transcript

Term: Spring 2023

Academic Standing: Academic Good Standing

Subje	ct Cour	se Leve	el Title	Grade	Credit Hours	Quality <u>R</u> Points
EMT	128	UG	Emer Med 1st Responder	В	3.000	9.00
ENGL	002	UG	Crit Thk/Writ Lit	С	4.000	8.00
FIRE	054	UG	Fire Equip & System	В	3.000	9.00
NUTR	010	UG	Nutrition	С	3.000	6.00

Term Totals (Undergraduate)

				Attempt	Passed	Earned	GPA	Quality	GPA
				Hours	Hours	Hours	Hours	Points	
Current				13.000	13.000		13.000		2.46
Cumulat	:ive:			30.000	30.000	30.000	30.000	90.00	3.00
	ial Tran	script							
Term: Fa			A 1'- O.						
	ic Standi	_	Academic Go	od Standing			Grade	Credit	Quality P
-	t Course							Hours	Quality R Points
ATHL	015A	UG	Off-Season B	aseball			Α	3.000	12.00 I
BUS	092	UG	Busns Comm	unication			В	3.000	
HIST	017	UG	Hist/U.S. to 1				D	3.000	
KINE	012B	UG	Weight Traini	ng - Interme	diate		Α	1.000	
MUSC	013	UG	Multicultural	Music			Α	3.000	12.00
Term T	otals (U	Inderg	raduate)						
				Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current	Term:			13.000	13.000	13.000	13.000	40.00	3.08
Cumulat	tive:			43.000	43.000	43.000	43.000	130.00	3.02
Term: Sp	cial Tran			. 1 (1) 1					
	ic Standi	-	Academic Go	ood Standing			0	C 414	Overlier D
Subject	t Course	Level	Title				Grade	Credit Hours	Quality R Points
ASTR	010	UG	General Astro	onomy			D	3.000	3.00
ASTR	020	UG	Astronomy La	ab			F	1.000	0.00
ATHL	015	UG	M Baseball (S				Α	3.000	12.00
ATHL	015B	UG	Pre-Season I	nter Base			Α	0.500	2.00
ATHL	025	UG	In-Season Sp	ort Cond			Α	1.500	6.00
FTV	010	UG	Introduction	to Cinema St	udies		С	3.000	6.00
SOC	001	UG	Introduction	to Sociology			С	3.000	6.00
Term T	otals (U	Inderg	raduate)						
	•	_	•						
				Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA
Current	Term:			15.000	14.000	14.000		35.00	2.33
Cumula	tive:			58.000	57.000	57.000	58.000	165.00	2.84
Unoffic	cial Tran	script							
TRANS	CRIPT T	OTALS	(UNDERG	RADUATE) -Тор	-			
			Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA	
Total In	stitution	:	58.000	57,000	57.000	58.000	165.00		2.84
Total Tr	ansfer:		0.000	0.000	0.000	0.000	0.00		0.00
Overall:	1		58.000	57.000	57.000	58.000	165.00		2.84
	–	00							
	cial Tran	•							
COURS	ES IN P	KOGRE	SS -To	p-					

Term: Fall 2024

COMM

Subject Course Level TitleATHL 015A UG Off-Sea

015A UG Off-Season Baseball001 UG Intro/Publ Speaking

Credit Hours

3.000 3.000

ETHN	001	UG	Intro to Ethnic Studies	3.000
KINE	012A	UG	Weight Training - Beginning	1.000
MATH	011	UG	Elem Statistics	4.000
PLSC	001	UG	Int Amer/Govt & Pol	3,000

Unofficial Transcript

RELEASE: 8.7.1

Student AcademicTranscript

This is not an official transcript. Courses which are in progress may also be included on this transcript.

Information for Ryne D. Richard
Institution Credit Transcript Totals Courses in Progress

Transcript Data
STUDENT INFORMATION

Name:

Ryne D. Richard

Curriculum Information

Current Program

Program:

Economics (AA-T)

This is NOT an Official Transcript

INSTITUTION CREDIT -Top-

Term: Fall 2023

Academic Standing: Academic Good Standing Grade Credit Quality R **Subject Course Level Title** Hours **Points** ATHL 015A Off-Season Baseball 3.000 12.00 BUS 005 UG Intro To Business 3.000 9.00 C 3.000 6.00 ECON 002 UG Prin Economics **GEOL** 001 UG Physical Geology 3.000 9.00 1.000 ÚG Weight Training - Beginning 4,00 KINE 012A Α В 3,000 9.00 SJS 002 UG Intro Race/Ethn

Term Totals (Undergraduate)

	Attempt Hours		Earned Hours		Quality G Points	iPA
Current Term:	16.000	16.000	16.000	16.000	49.00	3.06
Cumulative:	16.000	16.000	16.000	16.000	49.00	3.06

Anadomia Cond Ctanding

Unofficial Transcript

Term: Spring 2024

Academic Standing:		ng:	Academic Good Standing						
	Subject	Course	Level	Title	Grade	Credit Hours	Quality <u>R</u> Points		
	ACCT	001	UG	Prin/Acctng-Finan	D	4.000	4.00		
	ATHL	015	UG	M Baseball (Spr)	Α	3.000	12.00		
	ATHL	015B	UG	Pre-Season Inter Base	Α	0.500	2.00		
	ATHL	025	UG	In-Season Sport Cond	Α	1.500	6.00		
	BUS	018	ŲĢ	Legal Environ Busns	В	3.000	9.00		
	ECON	001	UG	Prin Economics	В	3.000	9.00		
	MATH	030	UG	Business Calculus I	F	3.000	0.00		

Term Totals (Undergraduate)

	Attempt Hours	Passed Hours			Quality Points	GPA	
Current Term:	18.000	15.000	15.000	18.000	42.00		2.33
Cumulative:	34.000	31.000	31.000	34.000	91.00		2.68

Unofficial Transcript

TRANSCRIPT TOTALS (UNDERGRADUATE) -Top-

	Attempt Hours	Passed Hours	Earned Hours	GPA Hours	Quality Points	GPA	
Total Institution:	34.000	31.000	31.000	34.000	91.00		2.68
Total Transfer:	0.000	0.000	0.000	0.000	0.00		0.00
Overall:	34.000	31.000	31.000	34.000	91.00		2.68

Credit Hours

1.000

Unofficial Transcript

COURSES IN PROGRESS -Top-

Term: Fall 2024

Subject Course Level Title

GEOL

002 UG Geology Laboratory

RELEASE: 8.7.1